{Towse Blosire] e

Please check whether you have got the nght «eig,egtwn pﬁper
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2. Attempt any three questions l‘mxﬁ ré" ing A

3. All questions carry equal maﬂm Ao ».l-fﬁ"__-.:‘r 7
4. Assume suitable data wherewér‘necessary S
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Q.1 Answer any four of the following: T R -'~‘\"¢~ : f?v

a) Differentiate between 8 connectivity and mconhettMty 05

b) Explain Dilation and Erosion in brief,
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c) Justify, “Huffman coding is loss!es:'.tmﬂj@rq\s&ﬁnm&c}irﬁq
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d) lustify, "Butterworth low passﬁfi[tﬁ’i'ﬁ Wﬂfﬁffedvtﬁ,‘lq-e ) | 3 .- ilte,_["':%f\x 05
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e) Explain the importance qﬁsoprﬁf&wﬁﬁgtﬁﬁ&, :‘ A - 05
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Q.2 a) Define Image E"ha"FEﬂil‘Eﬂt-‘E‘xglaj ﬂ;l%f
transformation fuﬁq_t,mﬂr w-r"’ CORSHE ™
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b) The grey level distribution of an inage i shown E"". ; ;e]uw S o s ciilsion g
P histogranm Gfﬂmﬂmal eqyalized imag ; Eé‘d of histogram equalization.
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j;ﬁ:iihﬁg u;mg:ﬁpﬁgh transform. 10
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_'(iﬁt‘mﬂ‘?&xpla{n wfth example segmentation based on similarities. 10
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;'“:755;? '#.‘;13" A a) Explal Gl ﬁ!-'ﬂieﬁfah&fbm and its application in image processing. 10
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Write short notes on any three of the following

a) Hit or Miss tra néfarmatiun

quantized with 6 bit accura

a) ' Consider an 8 pixel line of gre
b) Chain codes
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